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Executive Officer, Grade-III[16-02-2019
MENTAL ABILITY & APTITUDE SOLUTION

1. 45x?=25% of 900
A.16.20 B. 4
45 x ? =900 -60 25 Fzaisbd
A.16.20 B. 4
Explanation:

. Ravi’'s monthly income is Rs. 12,000. He saves Rs. 1,200. The
percentage of his expenditure and savings are respectively.
A. 80% and 20% B. 85% and 15%
C. 90% and 10% D. 95% and 5%
gailulledr 10TE eu(HLOmeID ¢h. 12,000. SleuT GFlldGD OFHTens ¢h. 1,200.
slaufler OFevey, Gzl FwieuBmlen FHaidmiseT (LPenmGu
A. 80% wmmib 20 % B. 85% wmmib 15%
C. 90% wmmib 10% D. 95% wmmib 5%
Explanation:

Savings % = 1200 x100=10%
12000

Expenditure% = 90%

. The marks scored by a set of students in a test are 65, 97, 78, 49, 23,
48,59, 98. The range for this data is
LomemtauTHeir BHTalled euTmISUl A IOLIETIH6T 6leNed aleuImibeilen aiFs
A. 90 B. 75 C.74 D.73
Explanation:

Range = Largest -Smallest =98 - 23 =75
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4. Find the difference between simple interest and compound interest
on Rs. 2,400 at 2 years at 5% per annum compounded annually
A.Rs. 1 B.Rs. 12 C.Rs.6 D.Rs. 3
. 2,400 &G 5% ewih ey aipd 2 euibhHeied DL HGHID gnl (B
AU HGD S U 1pHGD 2 6o alHHWTFID HT6wISH.

A.em. 1 B. em. 12 C.em. 6 D.em. 3
Explanation:
100 100 5 5

2 2
P=Diffl — | = 2400=D| — | = Difference =2400x —x——=6
R 5 100 100

. The value of 999%x999 is

A. 990809 B. 998996 C. 998999 D. 999824
995

999@x999 - 6T &I
A. 990809 B. 998996 C. 998999 D. 999824
Explanation:
= 1000—i}<999
] 999
9990004
999

} x 999 = 998996

. The Simple interest on Rs. 68,000 at 16 %% per annum for 9

months is Rs. :
A. 8,200 B. 8,300 C. 8,400 D. 8,500
. 68,000 -6@ o ey 16 2£% eigsded 9 wignisase saf

QL1 (b, AUS B(HBHGLD.
A. 8,200 B. 8,300 C. 8,400 D. 8,500

Explanation:

P =Rs.68000,R =50/3% p.aand T = 9/12 years = 3/4years.

Therefore, S.I. = (P*R*T)/100 = Rs.(68,000%(50/3)%(3/4)¥(1/100))= Rs.8500

. Find the area of parallelogram whose base is 9 cm and altitude is 5

cm.
A. 40 cm? B. 50 cm? C. 45 cm? D. 55 cm?
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PT DB IHHET Sl 2 Wb 9 cm, GHFHWID S cm  eleiev,
BT BTHH 6 LITLILIGT6) 61607601 7

A. 40 cm? B. 50 cm? C. 45 cm? D. 55 cm?
Explanation:

Given: b=9cm, A=5cm
Area of the parallelogram = b x h
9cm x 5 cm

:. Area of the parallelogram = 45 cm?

. If the radius of a circle is increased by 20%, then how much will its
area be increased?
A.34% B. 44% C.54% D. 24%
QR QULLGHHeT HJd  DHsfle@omeamed SIGUTH DIbS UL L GHIHler
ugLiLeNeY eTeleuene] SISHleMeELD?
A.34% B. 44% C.54% D. 24%
Explanation:
400

20+20+—=44%
100

. Consider the following data:
15,17, 17, 20, 15, 18, 16, 25, 16, 15, 16, 18, 20, 28, 30, 27, 18, 18, 20, 25,
16, 16, 20, 28, 15, 18, 20, 20, 20, 25 find the frequency of 20?
A.5 B.6 C.7 D.4
15,17, 17, 20, 15, 18, 16, 25, 16, 15, 16, 18, 20, 28, 30, 27, 18, 18, 20, 25,
16, 16, 20, 28, 15, 18, 20, 20, 20, 25 Gar@ssiu L seamenisd 20855 men
[51&LD0OIGUGHT  SHIT 60T,
A5 B.6 C.7 D.4
Explanation:
15,17, 17, 20, 15, 18, 16, 25, 16, 15, 16, 18, 20, 28, 30, 27, 18, 18, 20, 25,
16, 16, 20, 28, 15, 18, 20, 20, 20, 25
Ans: 7

10. A ribbon is cut into 3 pieces in the ratio 3 : 2 : 7. If the total length of
the ribbon is 24 m, find the length of each piece.
A.5m,9m,10m B.6m,4m,14 m
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C.8m,4m,12m D.4m,6 m,14 m

24 5 penpeiten Mluewenr 3 : 2 1 7 e aldld FHHe0 Oeul 1966,
Qoul L’ L glewi(hdbeillest Hord 6T6v16017

A.515, 915,10 18 B. 615,416, 14 5

C.815, 416,125 D. 415, 615,14 1§

Explanation:
24 24
=>—=2
3+2+7 12
(3><2, 2x2, 7><2):>6m,4m,14m

Length of each pieces are 6 m, 4 m, 14 m

11.Compare the ratio2:3 and 4: 7
A.> B. < C.
2:3ummib 4:7 adapHmsd @UIbGs
A.> B. < C.
Explanation:

(2x7):(3x4)=>14:12=7:6

12.1f 4x + 5y = 83 and z—X:%,theny—x=?

y
A.3 B.4 C.7 D.11

4x + 5y = 83 i %z%ﬂ@ﬂ@, y-x=7

A.3 B. 4 C.7 D.11
Explanation:

~

3x:2y= 21:22

=3X7:2x11=21:22
And,

4x + 3y = 83

4x7 +5x11=83
clearly, x=7, y=11
(y-x)=(11-7)=4
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13.How many % are there in 37%?

A. 300 B. 200 C. 100
1 . . 1 . . :
375 -60 615 FHEm60T 3 —h&H6IT 261161601 ?

A. 300 B. 200 C. 100

Explanation:
g7l D

2 2
75 1 75 8
Number of %s = > s — ——x—=300

]4459x18+36+540f%—%=?
A. 3.015 B. 2.705 C. 2.695 D. None of these

159x 18 = 3.6 +54 -air é—%=?

Explanation:

4.59XE+(5.4XEJ_1
36 9)°5

:>4'—259+0.6—0.2

= 2.295+0.4 =2.695

IS5 E&GBDM4NKH2ACZSV3F1JLOQbSPR
What will come in place of question mark in the following
sequence?
GDR BMP D45 ?
A MNQ B.4NQ C.MKO D.M4Q
E&GBDM4NKH2ACZSV3F1JLOQS5PR
B o ofenm aflemgulled GCzealds @GN 2 6len B HPH6L 6T6dTen 6T
Gouewr(BLd?
GDR BMP D45 ?
A MNQ B.4NQ C.MKO D.M4Q
Explanation:
GDR BMP D45
Series I: G B D M SeriesII: DM 4 N
SeriesIII: RP 5 Q Ans: M4Q
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16.In a monthly budget of a family, the expenses for Food - Rs. 4,800,
House Rent - Rs. 2,400, Clothing - Rs. 1,600, Education - Rs. 800,
Saving - Rs. 1,000, Miscellaneous - Rs. 1,400 calculate central angles.
A.143°,73°,46°, 26°, 30°, 42° B. 144°,72°,48°, 24°, 30°, 42°
C.144°,70°, 50°, 22°, 32°, 42° D. 145°, 69°, 48°, 20°, 34°, 42°
R GHOBLUSHHeT 1TH aufe| OCFealed o ewie) - p. 4,800, i 6
QUTLeNS - ¢h. 2,400, 2 _emL - eh. 1,600, Hevad - ¢ap. 800, G&FOLI] - em.

1,000, ®&7 OgFeveyser - eh. 1,400 eiellev, ewowd Gamewt  Di6Ney
&H6uT (BLILG.

A.143°,73°,46°, 26°, 30°, 42° B. 144°, 72°, 48°, 24°, 30°, 42°

C. 144°, 70°, 50°, 22°, 32°, 42° D. 145°, 69°, 48°, 20°, 34°, 42°
Explanation:

FOOD | HOUSE | CLOTHING | EDUCATION | SAVING
RENT

4800 2400 1600 800
48 24 16 8
24 12 8 4

360 - 360
24+12+8+4+5+7 60

MISCELLANEOUS

1000 1400
10 14
5 7

[¢]

FOOD = 24x6=144 HOUSE RENT = 12x6=72 CLOTHING=8x6=48
EDUCATION= 4x6=24 SAVINGS= 5x6=30
MISCELLANEOUS = 7x6=42

Ans: 144°,72°,48°, 24°, 30°, 42°

17.The H.C.F of 2923 and 3239 is
2923 iopmid 3239 Qeuppiiest 15.GL.Gl.
A.37 B. 47 C.73
Explanation:
2923)3239( 1
2923
316)2923(9
2844
79)316(4
316

. Required H.C.F. =179,
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18.What number should be added to each one of 6, 14, 18, 38 to make it
equality proportionate
Al B.2 C.3 D.4
6, 14, 18, 38 61013 @6UCGUT(H 6TEWIHEDHL T 6I[HSH 6TGMTNESH  Fnl Ig6IT6V
@Gy aladlgTFamgd SemL d@GHWw?
Al B.2 C.3 D.4
Explanation:
(6+x) : (14+x) = (18+x) : (38+x)
Product of Extremes = Product of Means
= (6+x)(38+x) = (14+x)(18+x)
= 228 + 44x + x2 =252 + 32x + x2
= 44x - 32x = 252 - 228
= 12x =24
=>x=24/12=2

19.A and B can do a piece of work in 8 days but “A” alone can do it in
12 days. How many days would B alone can do the same work

A. 20 B. 23 C.22 D. 24

am Gouemevenuws A, B @meurpd Gabad 8 mT &eiled (pipliur. A

LG 12 mpIlsefed HelGw  wplwnT. B i@ SieuGeaisnevenul
THHEMET BT &H61M60  (LPIQUILITT?

A.20 B. 23 C.22 D. 24

Explanation:

111 g 8x12 8x12_ .,
B 8 12 12-8 4

20.Find the next term in the series : 198, 202, 211, 227,
A. 210 B. 212 C. 252 D. 27
198, 202, 211, 227, B OHTLMed SIBHH 2 mIlienLd HTewISb.
A. 210 B. 212 C. 252 D. 27
Explanation:
198+4=202 202+9=211 211416=227  227+25=252

21.Find the L.C.M. of 48, 108 and 2807?
A. 15120 B. 15115 C. 15100 D. 15116
48, 108 wmmid 280&5@ 15.0UMID —3 HT6wIb.
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A. 15120 B. 15115 C. 15100 D. 15116
Explanation:

Solution : 48 = 24 x 3; 108 = 2? x 3% and 280
=S X7

. LCM.=2%%3¥%5x7=15120

22. Two taps can fill a tank in 30 minutes and 40 minutes respectively.
Another tap can empty it in 24 minutes. If the tank is empty and all
the three taps are kept open, in how much time the tank will be
filled?

A.1 hour B. 3 hours C. 2 hours D. 4 hours

R OTlgemw &m GWTUISeT SHeldhbHelGuw (WwemGuw 30 MmO mseT,
40 plOLmseled  HIUYHSIBSI. LBOBTH  GWwTul BT Byl
T 19emwl 24 BIOLmFeMed &HTe0 GFUIWD. OFHT Y STeOWTH SHbHIA
@epes GTUIS6Ne0 @Gr FLWISHHMD FHBHH ILLUILLLTED DHSHTL g
15HHME HIOILmiBeNed BIFLDLD?

A. 1 wewfl B. 3 wewiser C. 2 pemil e D. 4 wewflseit
Solution

1 4+43-5 2 1
> — = = = —
30 40 24 120 120 60

Time Taken to fill the tank =1 hour

23.The diagonal of a cube is 443 m. Find the volume.
A. 64 m3 B. 48 m3 C.12m3 D. 4.92 m3

QM SMFHTSHST cpmevall LD 443 IBLLT aafled iFHeT ST Sieey
616016017
A. 64153 B. 48 153 C. 12153 D. 4.92.53

Solution
Diagonal of Cube (d):aﬁ =43
a=4cm
Volume a’=4>=64cm?

24. The compound interest on Rs. 24,000 compounded half yearly for

1% years at the rate of 10% per annum is
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A. Rs. 3,483 B.Rs. 3,783  C.Rs. 3,873 D. Rs. 3,973
SIDOIUWTHIYBESG @ (pewB il dal G wewpuied em. 24,000 5@

oL TaimIbE 10% aully  aisid 1% LemIBHeTe0  HenLbGD Ll (H

alL 19

A. . 3,483 B. ep. 3,783 C. ep. 3,873 D. e. 3,973
Explanation:

24000 105 y 105 y 105
100 100 100
C.I =27,783-24000 = 3,783

=27783=A

25.If A:B=2:3and B: C=4:5then C: A is equal to

A.15:8 B.6:5 C.8:5 D.8:15

A:B=2:3 opgib B:C=4:5 aafled C: A=

A.15:8 B.6:5 C.8:5 D.8:15

Explanation:
A B 2 4
—X— = —Xx—==>
B C 35
C:A=15:8

A_SB
C 15
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